Roll No:-
Sem-V Diploma Exam 2023 (Odd)
(Mechanical Engineering . (25) / Automobile Engineering / Mech. Engineering . (Auto) (33)) (Theory)
[Time: 3 Hours] Automobile Engineering (1625505-P ) [Max. Marks: 70]

- All questions are compulsory. (H‘l-ﬁ I°E] a{ﬁaﬁ% )}
- Marks are mentioned on the right side of each question. (3/& T+t 7% & T3 3R 3ifdhd fHA ]))

Group (A) (YU -Q)

Q.1  Choose the most suitable answer from the following options. (1*20=20)
ST fadwed Bt gad ford |) :-
i. Camber angle is associated with ---------------
(CZa o 1 geefd @ dafad § )
(a) Braking system (b) Steering System (c) Vibration system (d) none of these
(ST ) (TR ) (hT=T ) (FTH & IS 76T )

ii. The automobile gears are generally made of ------

(AT fRR 9 ¢ s J T e d)
(a)cast iron (&efal o1eT )  (b)mild steel (g $EIT) (c) alloy steel (FA% $EUTA) (d) cast steel (Gordl FEUTA)

iii.  Self-ignition temperature of diesel as compared to petrol is ------------

(Ul I 3TUETT SroTel T TAd:Todoled ATIshe —-----mmm- 2T g )
(a)higher (S3TeT ) (b)lower (3T ) (c)same (SRT&X ) (d)none of these (A8 & FIg =Tgl )
iv. The coefficient of friction for the clutch facing is approximately
(FoT<l HTE T TYUT 0TI SIS —-mmmmemmem gar &)
(a) 1.00 (b) 0.75 (c) 0.40 (d)0.10
V. The basic automobile structure consists of frame axles wheels and --------------------
(FreY 3ifIaTser & gRAaE TXaeT g1 & %, TS, afREr AR e )

(a)steering (FEIRAT ) (b)suspension (FEFURAT ) (c) brakes (sih)  (d) differential gear (BWeaael TRR)

vi.  The materials used for cylinder block are

(GECE I | o i - — STI3T T 3TN gl & )

(a)cast iron (b)cast iron and aluminum alloy (c)steel and aluminium alloy (d)brass and steel
(FRC ITAE)  (FRE IRRA TG RARAIAAY) (e vd degAfAgdm @) (g va & e )
Vil. In the disc brake the disc is attached to the ----------

(ST RO o= — | SIS gl & )
(a) piston (¥t ) (b) caliper (FeldY ) (c) wheel hub (SgTel &5 ) (d) steering knuckle (FERIRIT FAehel )
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viii.  The compression ratio of a petrol engine is nearly ----------
(Y Sotet F HAST T F{T T ¥ )
(a)4:1 (b)8:1 (c) 15:1 (d) 20:1

ix.  The torque available at the contract between wheel and road is known as

(3Tefder T Ud WS F 1T FFIS TU G 39sY b I ------Fgl 1T ¢ )

(a)Brake effort (b)tractive effort (c)clutch effort (d)none of these
(S 9T ) (cToFea 9amd ) (FeTT 9T ) (ZTH & HIg g )
X. The type of wheel which cannot be used with a tube less tyre is ---------------

(Th YR T T TS Hehl 3UANT TPl TR & WY g1 fhaT ST Hehdl § - )
(a) disc wheel (b) light alloy wheel (c) wire wheel (d) none of these

(3% et ) (FT8C TATT Sl ) (AR e ) (BT T PIS AGT )

Xi. The commonly used antifreeze solution in automobile is -----

(HSAETET F TgFd TEnhel Bl ATAST - gar 8 )
(@)SO2  (b)Ethylene glycol(TUNT TSI ) (c) Alcls (d) F-12

xii.  The effect of having excess camber is
(-----31T8F HeX T IH1T ¢ )

(a)Hard steering  (b)too much traction (c)uneven tyre wear (d)excessive steering alignment torque

(1S TaRaT ) (g HUF goReT ) (A TR AT ) (e TR @@ < )

Xiil.  Caster is a ---of king pin (e fHaTiAeT T ----— g)
(a) forward tilt (b) backward tilt (c) eitheraorb (d) none of these
BT hr I gepra ) (S R IR Fepra ) (A AT F AT ) (BT T PIS Gl )

xiv.  Oil in the axle casing is required to ----------

(ERT JTGROT F AT T 3MaRASAT & T gl )

(@)lubricate the wheel (c) smear oil in the brake drum
(Ffeam # ofshe F ) 3F 37 F A T F v )
(b)lubricate the rear axle (d) none of these

(R Tt 1 ffsehe &t ) (3T T PIS Gl )

Xv.  Anover inflated tyre will wear the threat most near ---------------

(3TN FoAFeles TRR H USROG - Fotdleh §iar ¢ )

(a)Edges (TFaTRT ) (b)corners (=T ) (c)centers (s ) (d)none of these (378 & P &l )
Xvi.  The universal joints permit a change in ------------
(FATEST TG =--------- # et HT IFATT Tl AT & )
(@) the length of shaft (b) speed of rotation (c) angle of drive (d) all of these
(eMFe T deT5 ) Qe & a1fa ) (ST & HoT ) (I g3 )
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xvii.  Air lock in diesel engine is due to lac of ---------------

(BT Folel H §aT dleh ----—ah AT H 8l & )
(a)petrol (IeTeT ) (b)diesel (3rTeT ) (c) Air (8aT ) (d) none of these (33 & SIS gl )

xviii.  Which materials is used for insulating body of a spark plug
(F9Téh ToT & SIS Al Segele A A Ggad 5ed Bl § )
(a)silica (FafererT ) (b)dolomite (STeTATSE ) (c)alumina (TeTAAT ) (d)glass (FeTH )

xix.  Damper in an automobile is used to ---------
(Th JNCIAEES #H SFIX &l 39T & forv fohar Sirar g )
(a) absorb energy (b) dissipate energy (c) release energy (d) increase energy

(FT AT ) (FT TR ) (FT BT ) (FT qoTe )

xX.  Which is not a part of magneto —ignition system

(TFEhIT --—Fodelel TaEeH H1 PleT HTIT Gl 8T ¢ )

(a)battery (b)Induction coil (c) circuit breaker (d) condenser
(&) (SSHAT FH3oll ) (IRTYT dHT ) (TE=Th )
Group (B) (39 -dh
Q.2 Discuss the significance of aerodynamic body shapes of an automobile 4
(T 3MCTATESS & aITfaehd IR & 3R & Heeed T Tl &L )
OR (S1YdI)
Lists the four functions of rocker arm 4

([T 30 & TR Sl & FgEeeg )

Q.3 Explain the functions of the gearbox used in automobiles 4
(HTSHAIETS & IgFT gt arell AR JlFd & Al Hi sgrear # )
OR (S1YdI)
Specify the necessity of clutch in an automobile 4

(T HTCIHAESS H Fold FI IFETRAT I Afese Y )

Q.4  Write the two differences between constant mesh and synchro mesh gear box 4
(aies Ay vg demer Ay R diFq & & 3] ford )
OR (31YdT)
Explain the following steering geometry with a neat sketch — 4
a) Camber
b) Toe-in
(Rrafaf@a Eraler SIfAda S oo 3@RT & 91y gAsnsT
3 HFR §) A 5 )
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Q.5 Describe single unit vehicles or load carries 4
(Thel AT dTgs 3UaT AR dlgeh dlgel &1 auled & )

OR (31YdT)
Write the main functions of wiper used in automobile 4
(HTSHETSST # 3TN g aTed aIsW & J&T St 1 g )
Q.6  Define distributor in automobiles also write its function 4
(JTeHAESST # BEeger &l gRe¥a S AR s@h w7 # o fafge )
OR (31YdT)
Illustrate the rating of a battery 4

(S &r IETT &1 quieT FY )
Group(C)(‘Jq-'\‘ﬁ)

Q.7 Discuss the factors affecting the braking effect 6
(STHIT AT AT JHTTAT R dTel HRPT W TdT Y )
OR (31Yd)
Explain the future of automobile market in India on road vehicles 6

G HIEST SIeIR & s dlgall &l JIRd & HfasT &7 gl &Y )

Q.8 Describe the air lock in C.1 engine and give its remedies 6
(@3S 3977 H 4T -clich &l JUIA Y UG 3Tb [oRIAH0T &l ford )
OR (S1YdT)
Explain in brief the construction and working of epicyclic gear box 6

(v vfaasiFas R soa & @0 3R FF & T 7 89 & 9417 |)

Q.9 State and explain the Ackerman’s principles of steering system 6
(T & TR RBeeH & Rtga & gaw 3R a#s))
OR (31Ydn)
Name the most common types of the steering gear. Describe any two types of them in brief 6

(TEH 3T YhR & TR I &7 AT Jd10|3a087 F fhegl aF &1 8T H quid &Y )

Q.10 Describe the construction and working principle of leaf-spring used in suspension system 6
(T fAFeH # wgFd ofie f&er & At 3R & Rterd & aoied & )
OR (31Yd)

Lists the factors affecting the lubrication give any two types of lubrication systems used in 6
automobiles

(F16oT I GHITA el dlel dedl &l Falloee X |JEAEST # TgFd el & 9
% Tgad geefd @ ford )

Q.11 Explain the construction and working of differential used in automobiles in details 6

(HTHAEST  H g gl aTel [SHRIFS & fF#ToT 3R SHrdvormel &I faedr &
HAFAST )

OR (31Yd)

Draw and explain the lighting system circuits for passenger car 6

(T PR R & v aEfesr Rfrea affhe sav 3k gasmT )
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